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Read the followmg mstruetlons carefully before you begm to answer the questlons

IMPORTANT INSTRUCTIONS
You wﬂl be supphed with this question book]et 15 minutes prior to the commeneement of the exammamon

. This question booklet contains 200 questions. Before answering the questions, you shall check whether

"~ all the questions are printed serially and ensure that there are no blank pages in the question booklet. If

0.
11

* any defect is noticed in the question booklet, it shall be reported to the invigilator within the

first 10 minutes and get it replaced with a complete question booklet_. If the defect is reported i
after the commencement of the exammatlon, it will not be replaced : B
Answer all the questions. All the questions carry equal marks.

- You must write your register number in the space prowded on the top nght sude of this page. Do not

write anything else on the question booklet.

. An answer sheet Wlll be supphed to you separately by the room. mv1g11ator to shade the answers

You sha]l wnt.e and shade your question booklet number in the gpace prov1ded, on page one of the '

.answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail to shade the

quest.lon booklet number, your answer sheet will'be invalidated.

Each question comprises of five responses (answers) ‘Le; (A), (B), (C), (D) and (E) You have to select
ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your answer sheet.

. If you feel that there are more than one.correct answer, shade the one which you consider the best.
"If you do not know the answer, you have to. mandatorily shade (E). In any case, choose ONLY

ONE answer for each question. If you shade more than one answer for a question, it will be treat.ed as.a '
wrong answer even if one of the given answers happens to be correct. '
You should not remove or tear off any sheet from this question booklet. You are not allowed to take thls

. ‘question booklet and the anSWer sheet out of the examination room dunng the time of the examination. -

r. You a&@_owed to .

You should not make any markmg in the questlon booklet exeept in the sheets before the
last page of the question booklet, wh:ch can he used for rough work. This should be strictly B

“adhered to.

In all matters, the English version is ﬁnal : ' :
Failure to comply with any of the above instructions w1]1 render you hable for such actlon as the
Commission may decide at their dlscretlon

l TAMIL VERSION OF THE ABOVE INSTRUCTIONS ARE PROVIDED ONTHE BACKSIDE‘OF‘ THIS BOOKI.ET |

| "'.B |
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U@ﬁ -8 — Qungj a|,|f)'|6>.| (L.IL..L..L.ILILq.LIL| g,m.o)
| Part-—B General Studles (Degree Standard)

sﬁmnéa,m :101-200 Qu:.rrg,g, Lo,é,luGluswrasm :150 |

 Questions :'101—20.0_ - Total_Marks 1150

101. WhJch of the followmg statements are true about Jud1C1a1 Rev1ew‘?

' _(i) The doctrme of Jud101al review. or1g1nated and developed in the U. K

(i) . The Constltutmn of Indla confers the power of Judmlal review on
the Judlclary ' '

(i) The power  of . Jud101a1 review cannot be curtalled even . by a
| Constltutlonal amendment
B (A) (1) and (ii) are true |

- () and (111) are true

(C) (1) and (111) are true

D) @, ) and (ii1) are true o
.(E) ~Answer not known

‘lﬁﬁ qmgrru_lm LI‘[_I)'IJS]U_I &pa;&;rrsmuu@m Gurra;éilu_im&aﬂw Grgllsrmsu &'rﬂu_mmsmm?

@) g8 gemmias (EtsrrL_urr(},\ u.|(Eas (UK) Gg.rreoqﬁlu_lgj wHpId

2 (HeUTSSLILILLg) N
(11) @p@tu aqé]u_lmmwuq ‘r_ﬁ@ggm‘mas@ ﬁﬁqmgnwo‘q @qﬁasrrtygmg Gu%pral@a%]g)g
(1)) 4 yemrmiey sifsmsos au&]mmwmuq ﬁ@g,g,m @psm.o @m,r_oasas apigwTg
_ '_(A) Q) LD}})Q]LD (11) &M - ' ' '
B () wopus (i) of
| (C) 1) wpgw (i) &M

(D) __ (1) (ii) WwHpID (111) o
(E)  oflan @g,rﬂu_leﬂl.@mcu

B A : 27 CCS2R/2022
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102 Whlch of the followmg statement with respect to the Indxan Pr951dents |

- power is/are correct?

@

(11)

Money bills can be introduced in the Parhament only Wlth his prior - -

recommendation

When the financial stability or credit of the nation is threaténed,

~the President can declare the Financial emergency

(iii)
(iv)

(A)
(B)
©)
- (
(E)

The President is not answerable. before. any court of law for

'exerc1smg the powers and duties of his office

The administration of Union Terrltorles 18 the resp0n81b111ty of the

‘President

(i), (iii) and (iv) only
(11) and (iii) correct

i) and (i1) only

@), (ii), (iii) and (iv) correct

Answer not known

leireu(mn &iﬁ)gj&ﬂﬂsb@"r_‘r,ﬁu_l marrdug ofarysdld G@/ﬁ@p@ &rﬂu_lrremgl?

0
(i)

(i)

(iv).

@A)
(®)
(©)
(D)
(E)

Lq_UJU#rg, seneeufler perUABgInTILIL 6 LDI'_®GLD\ uerr  EsTsrEsaner
IBTL_T(@F LD GST (D &85 &b a@@auu@gg (Pl Ld '

Bl ger B Fomssamn dRg ST AFENSSQGE o eTeTTEDh Gurrgj
G wressmaeit B seusrflaeamu obiellss pigub _

G LTESEODET g SQieESHaT ADSTIEEE WHMD SO

LweTURSSHeSDH S ahsteurd Sdweamsen apemr Qumyiiired side.

el @Ueg’&m&aﬂm ﬁﬁm”*ﬁgﬁm@ @W—“—'U&ﬁﬁ@mmr’f Qurmliuremeu |
(i), (iii) wpms (V) e GCw &M - |

(i) wppib (i) wiGCw &

@) wppod (i) e GCL &

(1), (i), (1i1) I-D,IIJQJLD (iv) oA

efleni Glg;rﬂu.laﬁlcosm)

CCS2E/2022 | 28 R O




103 Whlch of the followmg statements are true about fundamental dutles‘?

'.I(i) 'Fundamental dutles are lalddown in _Art;de- 51-A of the
. Constltutlon : . : - R o

| (1)) &6tk amendment Act 2002 added 17th fundamental duty to the hst

() To develop scientific temper is not a fun_dame_ntal duty.

@ @only

" ®) i and (i) only
& ) and i) only
‘() () and (iii) only

- (E) AnSWer not knewn-

S PR T a;_'l_-emLoase'fT &N&ES Spsnamih m’pg, Q&rrgj)@j_!)m___r'ra;eﬁ_‘ sflunerenca?

@ c9iLIq.I_IILJIGB)t_..&5. sLevwaer srflwemondar  &fd 51-A @ -
_G]asn@&auul_@mm@ o _ R

() 110z SiglUSL S 866]ng ,s_f,]@g,g&&u_m 2002.94,6 I.IL!q.U.IQS]GD.
CaidaiiL(HeTargl.

(i) oiflefliud weTlLTaWMW WETTSED (R BGlILGL SLOLWdR.

B 6 wren

® (i) wppid (i) e
(© () wopo @) T
D) @ wppo (i) ocGo
(E) oL @gmumm;}

A | . CCszEmo22
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104. ‘Kitab-I-Néuras’ 'i_s a collection. of -thé poems of
(/ Ibrahim Adil Shah — TT
(B)' Ahmad —II.
(© quua_— Din Firuz.
(D) Muhammad —1I |

(E). Answer not known

‘@gg_@—‘r_.r@ggm’. q&ugj - _ — i 'er.duruénﬂéwl um_ésaflen G,srr@uq g,:rsb
| ('A) @ram_md> Guindld S agr
B grammo sy

© sriguip-Hin Gus

(D) '-@gssurqrm aps0g

(E) ofer Qsfluaiaame

CCS2E/2022 S 0 o B




105 Buddhlst poet Asvaghosa wrote ‘Buddha Charlta in__ language.

(A) Prakrit

- - (B) Pali -

©) Urdu

- (ﬁ Sanskrit _
'(E) Answer not known

L5s asa‘il@'rr cgmua.l(‘Seasrrsns’grr “|_|§§ &rﬂangs aur ' —— QiomBludled erqpdlemm. .

Q) L‘ilirrraﬁ@gm |

(B) Ltired)

| (C) P

&mauél@gtb

E | (B) flenL Qgflwelidrerer

106.

“The Cultural Development' is characterised by intellectital, aesthetic - |
~and splrltual attamments” Who sald the above statement? )

) (z;)/l S.Mil
(O S.M. Fairchild

(0) Max Weber
(D) Tansen

(E) Answer not known

“GOMESTY  QUETTES srefﬂugj agﬁ]cq cg@élu_leu hpbd  Ypenbs sTseaEaTTD

: mwasuu@g,guu@élmgj ereitD Gmm&mu_ SO u_|rr(5am_u_|g.,|? -

(A) _Gg eroi. LfleD.

(B) G_I‘GTD.G!'LD. SCUTensd@
(C) Gusev Geulsui

.(D) LnenGaer

2 (E) ot Qsflalidena

31 . - CCS2E/2022
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107. Ciioose the incorrect match :

(V8

(ee)

(1ii) .
-(v)

™

®

©)

().

Suba ’ - Sipahsalar.
Sarkar " _ Faujdar
Pargana. .= Shiqdar
Village =~ ~— Bakhshi

(¥ ﬁnd (i) only

(i1) only

(iif) ‘and (iv) only

(iv) only -

Answer not known

Aunmssb Goarsabas CoisOsPssab :

o)
(i)

" (i)

(i)
()
®)
©
o
(B)

& ' - QDQ-W&ﬁéfr |
shgsnit . —  Quatgsni
ufra;rremrr ' — -é]'é.sg',rrfr |
aéh;mm' = ué;aQ'

(1) opmib (1) o EHn

(i) oG

(i) wppis (V) LD

(i) oo

a‘j]af)l___ Qg,rﬂu.;aﬁi@msuz

CCS2E/2022 | 82




108 Match List-I with.Li_st-II. and select the cori'ect'answe'r,:

| LlstI (Place) o B o 'Llst IT (Excavated by) B
_ (a) Chanhudharo - 1. AurelStein S
- () Kulli | o 2. J.P. Joshi S | I
(¢) Rakhigarhi 3. Majumdar |
(d) ‘Dholavira 4. -Amrendranath

@ e 0 @

'(A)'z 1. 3 4
B 3 1 -2 4
s 1 4 2
™4 3 1 2

(E) Answer not known ‘

LIqu.UJGDI g IJI_Lq.LLIGD II o Lo Qurr@gsg‘,] &Glep @‘)LlS]ulEh_@aTm @;ﬂuﬁ@asmmas ) ;
Qasrrmr@ sfwiner aﬂa)L_emu_lg, Gg,n’m@g@&&;@.;w -

| .-.I_I'qu_ll._!d)-l @ud) - wiguied-II (Caram i Lg)
- (a) ememabsnGor 1 ';%r,rs'u GiUlgGBT- |
ORI 2. J.P.Cgred

(0 préismiah 3. ogosrt

(d) Gsreeflyr 4  oCrpdrmns

L@ B @ @

@2 13 4
S ® 3 1 2 4

©3 1 4 -2

4+ 3 1 2z

(E) aﬁlam_ G]g;rﬂu_laﬁla)swm_

N S ' 3. cecszEmosz
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109 Choose the rlght answer among type :

| Which of the followmg statements are true about Eleventh Five Year
' plan of Ind1a‘7 ' '

(1) vlThe maln focus of this plan was towards faster and more 1nclu51ve
| _growth I e
I(i'i) This plan stresses that beneflts of development should reach all '
~ sections of populatlon L _‘ '
| | ;(iii) Inoreased rice productlon in the eastern part of the country
@) (only |
(B (1) and (111) only
| (S _(1) and (i) only
(D) | (ii) and (1) only |
y (E) Answer not known _
- SpdaetT aisr,r_l)g)ja;aﬂev arﬂu_!rremanga ngp@g@&&mm

: @‘[bélu_m@ﬂm udiQarrenpireug) g‘rj;g)rrem@g, lé,]l_l_g,w,g,u ".u,[b'gﬂ_tu ﬁlmm@m '
an'r_r)gjasaﬂco argl eflwrang? | o '

()  Bss ﬁu_gglan W& seiend aﬁlsnga.masr HILD a_aTerrL_asaﬁu.J aja'rrr&é’lar)u_l
ngasaﬁlu_lgrras @@'@g@ - -

.I(ii) sueniESudler Licengser ammgg;g ggnu wa;a;emmu.uo Qam,r_r)annu.l GGUGMT@LD
TILDS BbsS Arin udlupssIApg. | o

() g pr e Hipse u@amﬂm ol g_mug,s élé]asﬂg,g,g
@ Guies
B () wppud Gil) we G
(© () wppd (i) wiGo
) ) wpgud (i) wcGo>
B oo Gsfucidme

. CcCsgE02 . . o34 . B




110. The l.argest West flowing river of peninsular India is

(A)

(J Narmac;a o

. © | .
| tE) N Answer not known
5uasmu @p;ﬂ”—lnaﬁ]m C:Lqm@ G,r_r,néélu x._zrru;_ub -@;u@ﬁﬁl@ 58 am7

(C) | ;_r;rrwg:r |

™

®

Mahi

Sy

Sabarmati |

Luni

»

mw_;’

FU rrLogc,]

grefl

dev._ AAuciome

35 .

T

ccszEiz022z |}
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111 Two- exactly 51m11ar w1res are, stretched by the same load. Thelr.
' (laljlcltles are in the ratlo 5:3. The ratlo of thelr elongatlons are L

3:5

@B 5:3
(C).9:25
(D) 95:9

'- (E) Answer not known | |
_ @@ @g,g, gilger &0 c9{G1TG).[61T61T GTGU)i_l;_In'GD asl_Lq@ Glg,rrrsjasaﬁh_uul,,@msrrm' _
: '_ @qmm;ﬂm LBi_éﬂUSIu_IGD @GOUTGSIEJ&GTHGUT el 5:3 Greoﬂa) aar.mﬁlaaaﬂsur gﬁl_él aﬂé]g,m..l.
GTemen 2. . _ _ o
' (A) 3 5
. (B) 5:3
© 9: 25 o
(D) 26:9 _
' (E) sﬁ?sm_ Gg,rﬂua:ﬁ]eusmsu

112. H an blood grouplng was dlscovered by -
a (] |

Landstemer o
(B) _Punett_
(C) Correns,
(D) Muller

- (E) Answer-not known
erfs @lfg,g @JGD’)&&GK)GTT:S esartrrl_,r_ﬁ]‘r_r;g,a;rr

- (A) GGDG&TL_GII)LaGmTrr o

- (B) I.[GETQGBTI_ o
) GEUGU’@TGD |
@) "goor ’

‘ (E) aflen Qpfluieiidaa

' ces2E022 . . . 36 B B




113 In fhe..cdllectiye 'ﬁlo'de1'-6f | the n'ucle.ué,'. theéhépg.df ._Iiu_cler_:.u.' 'lr.:br._e 15 :
| (( NOn-spﬁerical .’
| (B) Spherical - |
© | Semlspherlca] "
- . _. qimuhr  ‘ __
(E) Ansvver not lggokasrn i'
| ogpsspar ﬁ".—@. @ ienioLi9ed a@xasaa(m r— m@mgm@ |
N : (A) Gaarrar aqum‘mm |
® | .ém aiaid
(C.) ,.éi/_mjé_iicain'ﬂfé_ltq_@_rﬁ).
- (D) GLII_LGUL:}.G)_ILD
| (E) Ao Apfuciome

B S o  CCS2E/2022
_ : A L S o ' [Tur_nbver.__;



114. Assertlon [A] Sc1ence 1S complex Abstract and mult1 faceted dlsc1p11ne

'Reason[R] . Scientific knowledge 1s -concrete theoretmal and.-

synthetlc

| (/[A ]1s true but [R] is false |
| (B) -_Both [A]'and [.B] are true, end.[R]-is.the' cé,rl'eet eﬁplanal:idh_ of [A]-.. . ﬁ
 (_0) [A]is falge_[Rj is true -
_' (D) Both [A] and [R] a_l'e.true_,-but [R] ie not 1_:h‘e correct expl_enatioﬁ of [A] -
(E) AnSwer not known .
mop  [A] I.' .'a{,uﬁlaﬁlu.@ | él&asmflén, es@g,ﬁu_;mrr@_ I'_L.),r_i').rcr;)jl._b .J@@&;g@r@mg

Gls'srrai:ﬁ._sma.l u.J-rr@Lb '

smyenrh [R] : é:;f)laﬁlu_la) &,r_f)'!sq GI'GDTLJ§J u@u@urr@a‘r Gasrn_urr(a mmg)jm
Qgrr@u:_] @mg)asanm amml_&.é]u_@ '

'. (A) [A] B‘fﬂmsﬂel e [R] seuprans -
®) [A]LD[R]LD A, [R], [A]Gﬁl,r_mi;asrrsur .&'rﬂl.LJrreuT @sm@ |
(© 18] pespreg [R] sfwreg
D) [Aks Rl o8, ayenns [B], [A]ammgw Auner Bersaoie
"(.E) aflenL. ngmﬁm@w |

. CCS2E/2022 . e B




115 Match the followmg
' (a) Apospory '

(b) -Apogamy -
- (c) Pefthe_no_carpy
| . (d) "P_ar'th.enog.enezsisl
@ (b)__..'.(c). @
B @ e o
Fw O @ 6
o @ O 6
(E) ) _Answe,_l;. not known

. %Qé&as&wgmmeop Qummsas
(a) @wGursvGumf |

() SoCuIGsS
{c). urrfrﬁ,@@mlra;rrmﬁl

(d) urrrrg,ﬁ,](ﬁmrr@ga"‘r’éloo -

@ ® @ @

(B) eflen Asfwueciiema

W @ @ O

@@ @ @ O

®0n @ 6 O
©@®w o @ 6
™ @ O 6

. Development of a sporophyte dlrectly-

from the gametophyte

. _' Fnu1t formation without fert1l1zat1on of L
~ovules | -
- Development of an embryo from an

unfertilized egg cell

. Development of gametophytes d1rectly -

from the sporophyte o

1. _. CSa;tﬁll"_Cﬁl_rrsoi__JL:;qoSl'J@;Bg] Coyguns

'sioGurrGrJrra)ut'_ e BUTGS

2. _as@m,r_r)rrmc.n u%pm 2 Beun@eus
- 3. smeprs (pren GE@@S]GS]@[_BQ] &

%@GLI TTG)JQ,I

4. G\‘UGUHGUHG&)ULLQ_GS]@E@] (Spmq.u_:rras

Ga;tﬁll_Gl_rrmw_ 9_([5@ e

s ccsmmmozz |
| ; [Tarn over =




116. Whlch of the foIlowmg are correctly palred‘? :

o

B

\ Kaprekar o

J anakl Amma.l- L

@
| '.(3)' | Debashls Mukherjee .
; . ..(;4') Meghnad Saha |
. A 1 ;lnd_é- are-corréct_
(B) 1land?2 'areICOr‘?ect
(C) 2 and 4 are correct' '
({ 2 and 3 are correct N

Answer nOt k_nown e

— | Astrophysmlst

Blologlst

| Cheml_stry c

 Mathematician

' @mm'@'mm_su,r_j}ﬁeﬁ eTenG "&rﬂ-u'_l'rrésu Qun@g,g,uuL,@GlTﬂng?

2)

'(3) |
@

®
®

(B)

sLGrasmT

'gnmﬁammnm
Gsumatlev @aar’r@
. Gm&pwg, mre'l_n)rr '

1 mmguw 4 &rﬂu_lrranansu 3

1 LD‘f_f)Qij"z ﬁrﬂu_lrrsurgmu

2 '_Lbﬂ)g)]Lb 4 sflureredes

2 wpgid 3 sflunenaes

afemL. Qg,rﬂu_la‘jld)msu-

 CCS2E/2022

- eumaflue @wmﬂménmﬁ_

.o_u_cﬂrﬂuﬁ]ma)rrmrr L

Gmﬁuﬁlwmnaﬁr .

5amﬂg,.eﬁlwwlrrsﬁr'r




117 World Youth Sk1lls day is celebrated on : o
@y March BT: R

(B} May, 15

| Eyugust 15
- July, 15 .-

B &ms; @mm@n Sper gc,lairw G]a;;rswn_m_uu(b\&ﬂ,r_n ‘r_r;rrm
L (A) u:rrrre 15 L
B (Su_a, 15

. (E) Answer not knewn

C©) e, 1'5'
(D) BOme, 15

: (E) @Fﬂm; G]gr‘ﬂu_}aﬁ]a)wcu

The ﬁrst Indlan male Badmmton player to. wm a s11ver medal under |
_me ,S singles in the world Badmmton Champlonshlp was

E '( Kldamb1 Srlkanth
_ (B) Parupalh Kashyap

(D) Pullela Gopichand
(E) An_swer not knqwn

(C) Sai Praneeth

| "'la_a)as c%L_Q_Iﬁ' @,r_na),u)u_lrr @‘r_r)@juu‘r_r;gm_a_ &nmlﬁ]usmasﬂu GLJHL_Lq.:SGﬂQ) @suenmﬂu |

o ug,aa&;m Ga.lson (PSS @jﬁ@w %_swr @p@uup;sm_l_ aﬂsmmu_lm_@,\ aﬁm’r '
o (A)--- {gli_nml_fﬁ @asnpng ' '

(B) | urr(rj,uerraﬂ ease@mu .

©) sl Gyents |

D) LaGww Candeps
(B deu Gpfudons

- [Turn over .
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119 Arrange the followmg in. descend.mg order of amount recelpt n budget -
estimates 2022-23: ' : : :

- (i) State excise
(i) Stamps and reglstratmn fees

- (iii) Motor vehicles tax ({
@A) W, ), iy (11) (1) (111)

(€) @ib), @), (i) - (D) (111_), (11), @
(E) Answer not known - . . .
- 2022-23, (rf,],é,](rf;]a)e) cgﬂ,:ﬁlassnauﬂm Gﬁl‘l’i}l’l‘l’lu _ w@ul.fﬂcu £|Epasasam_ u,rogm&&_@ |
. G]g,rrwessmu_l @mmg;mrﬂm&uﬁ]m Gr@g,;a _ | | _
(1) e semd Gnr'f]
(i1) @gé]wg wppb ugey asl_:_am-n.o
- (iil) Gum i eurser aufl - L
@ @, e, ay 0 ~(B). (i), (), (i)
(O @), @, @ - R ()} (iii),:(_'ii), @)
(E) _edenL G]grﬂu;laﬂd)smu . ' o L

120. Which of the followmg statements are correct‘? . o
: (@) The nominal GSDP growth of TN 1s estlmated to be 14 13 percent mn
12022-23 | )
(i) In the TN budget estlmate 2022 23, the ﬁscal deﬁmt is estlmated_
| ‘at 3.63 percent of GSDP . .
. (iil) The outstanding debt as a percentage of GSDP 18 expected to be
'27.76 percent in 2022- 23. - | _ . -
(A) (i) only . o o (B (D only :
| ({ @), (iyand Gi). - - = D (11) and (ii}) -
(E) Answer not known o o
':Qewsn@'m FahHmiseficr mﬂu_lrrarrm,mmg) Ggsnp@g@

(1) 2022-23-& ﬁLﬂEQ;BfFI_lq.GﬂT Quu_u;rmaﬁla) GSDP snsnrrea.ﬂ 14.0 &gsaﬁgmrras' |
sansii LuHEDng).

- (1) 2022-23, g_r,uShc.p(r_r,rr@\ ﬁlg‘,]ﬂmsu &gﬁlam&uﬁlw Gg,rrljrru_lmﬁuu ;Béluum‘mrras:f
| @mmuﬁ]sm (fiscal deficit) GSDP 3.63 sgefgions GSGMTEBQLI_II_I@Q'LUQ] R
- (1ii) 2022-23-& GSDP-Wer spefsions Sayeneufguerar HLGT (outstandmg |
_ debt) 27.76 sgeisions afliurissiLGApg. . -
(A () oo - B @wen
© @ @uwppo @) . (D) @) wpgos (i)
(E) .GDS]GD’)I_ Gg,rﬂu_leﬁlmmeu : - '

- ceszmmozz e R




A)
(B)

-
- ®

- ©
@)
(B)

122.
o 'board were created in -

. 121 Wh1ch of the follewmg 18 NOT a feature of the Jomt famlly system‘?

Authorltarlan structure
Famlhstlc orgamsatlon
Indwlduahstlc 1dent1ty
Depth of generatlons :

Answer not known

Lﬂmm@mmsu,r_mcmm Grgj ah.l_@las @@Leu éiGD)LDUL(ﬂEST .,—_‘_',\ILD&Lb aqebsu?
@ |
- (B)

. anenrrﬁesm; ceianwuq

&by a{smmuq

gaﬂmaﬂg -.—9IGB)IL.uJ emb

'_gsa)a)(g:m,r_r)asefﬂasr &mmrrrr;_ag. gmmm

G:S]am_ Gg,ﬁlu_laﬁ]a)wsu

Tamllnadu housmg board and Tamllnadu urban habltat development

®)

©)
D)
(E)

1961 and 1970
1951 and 1960 -
1970 and 1960

1960 and 1951

Answer not known

pn@ eE|_® maﬁ aurrrﬂu_n.e mmmjm ;suﬂg ;_F,ﬂf@ BT D mrrgpsﬁh._ Gwmurn._@

_ surr D 2 (HaTés L %GﬂT@

@)
®
- ©

®

196_1 LOHEILD 1970 o

1951 wpgi 1960

1970 wpgid 1960
1960 wppd 1951
sSlanL. Glgrﬂu_laﬁla)ma)

48T . CeSzRiz0fz
T : - [Turn over '
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123. Which of the following statement is/are true of Free Drop Back Service
‘Janani Sishu Suraksha Kar1yakaram (J SSK)? ER

@ )
| -(11)
(-A)
B

JSSK started as a pllot prOJect in Tamﬂ Nadu by TNHSP

Drop Back vehicle can transport mother Wlth bables upto one year - o

Only @) - |
Only(n) o | o | R .

Both (1) and (11) are true .

(D) Both (1) and (11) are false

(B)

Answer not known

' gsﬂaﬂ é]eq;o GG esrriﬂu_le}surw @sueu& lq..l)'frl_l Cua (Free Drop Back) Gmmuﬁlw.

é]emeu@u: ah,r_r)gjaserﬂd.) crg/crmeu o Gimann .

S

‘ _(ii)'"

- @A

®
(©),

D)
(B

- JSSK <yanE TNHSP—%GD ‘Q';LIS]IEQ‘I_T)I'I'LLQ.GD @@ @m@@ﬂmq. Ql_L.mrrasg,
.' Qg,rn_rmasuul_r_gj | ’ | | |
'tq.nrrru Guas mrr&asrm QR - Guu.lgj @lc.p‘r_r;wg,mu_lum grrabu.mm G]a;rrew@ GFoe

| il cuens G]&u_m_luuz_@mmg]

(i) oL (Bitd
(i) we G

(@) wppi (i) @ran _;assm#ﬁ |

| (1) whgud (i1) @rﬁ&w@ Lb-.‘é__}';éJ MTeTenG

aﬂml_. Glg,fﬂuaﬁla)a)w |

CCSZE/2022 N L B




124 V1rudhunagar Sankarahnganar, mvolved 1n an 1ndeﬁn1te hunger strlke

| (E) Answer not known - .
- wgyre wrfleb, sADHEIG ey Quwrr woIHD Geusomq. eﬁ]@g}m&n &m&gaﬂmamnn
ean@maipsimbs 2 i Pbs PTG | -

L (A) 1956 gooa.
(E) sfﬂsm._ Qg,lﬂu.laﬂd)d)aj .

195,

| (O P.V._a;u:ﬁ]gm_mﬂujear-
(E). @91@._' Ggrﬂﬁ__laﬁld)enm

- 126.

- (A) 1956_July . . (,

@) |
© PV. Subramanian
- -(E) Answer not known

| @@55LJLJI_L @;55165856:1" Grem,m L{ﬁg&gﬁm 2 AAwi wimr?

(©)

, "(E) Answer not known ~ .
' _&g_:aasam_a.l,mﬁw Remm Lm_®|.b ﬁ@é&l_é]uﬁlm Fngenar .;eqwsu?

RNCVE

to rename the Madras State as Tamﬂ Nadu and died dunng

1956 October

(C©) 1965 July (D) 1965 O_ct‘ober

(B) 1956 24&CLmuf

(€) 1965 gdma (D) 1965 osGUmn

Who Was the author of the book “Oppressed Hlndus
- ®

. Veeralyan “
“M.C. Raj-ah

M Palanlswamy _

(A) M. ugaﬂ&nﬂ “(B) R. &Sqiiwen -

_ (D) M.C._l;rrr&rr a

-

Wthh one of the follomng is not the achJevement of J ust1ce Party Rule" |

(A) Passing Communal G.O. of 1921 and 1922

(B) Creatlng Public Semce Comm1ssmn
rantmg Voting R1ghts to women’

Non Cooperation Movement

1921 oHID 1922 ~ib <91, TLg & aGULeNs ag&nmm&mm ﬁwm@w,lj);f)]u_igj |

B

©

D
(B

@Ssl@pur@D GUbsD .

SIT& usouﬂu_lrrsnrr Gg,rreurrwammw a.@eurrasasuul_l_gj

Gu_ma;@a;@, ams@few aphsuulL g

e OgMusidane

e - .ccs2Enze22 - |
: L ' R ~ [Turn over.




'127. Which of the followmg journal 15 not assoc1ated Wlth Subramamya
Bharathl" X ‘ o |

(&) ANewDaly . (B Viaya

.(C.) -India ' | S New 'Ind'ia _

() AnSwer_ not known .

JE_CSQ Qa;rr@a;aauul_@mm @g,lc.p&srﬂm ol &'ruIILoamﬂu_l urn]r'@c,}ul_sﬁr Gg,m_rrl_]GnLu_lg,j

--==9I60613? _ | o |
(©) @bPur o D) fy @pdun

(E) eoftenr Ggrﬂﬁ.t@ﬂe’oému

128. Who are the'oneé who -'bi'ave"the FATE9

| I“Oozhalyum uppakkam kaanpavar - yaar"
" (A) Learned .

(B Young peop_l.e

@@ Deligent people

D) Lézy'peoplfé. ,

- (E) AnsWef not known_'
aweniguiin oIS STEMLAIT — LTt
(&) srarGpni | |
B @eaCurt

- (C) .a‘i]l_rr@u_:g)tﬂ a.GCDI_GLLIITIT :
| (D) CB&rrLoGugS] |

- (E) .._6}9@5.)1_ G]g,rﬂu-.mﬁ]dm@ |

| CCSZ-E1202_2_ L 46 T B




L

130.

- ._sran@to @maﬂm @@u@um smm_rga'r G]urr@sn
@ aue -
LB sesse

(O gepen

(D) vdesyeLen

(B oL Osluddome

| 129 What Thlruvalluvar says are the qual1t1es of an Ambassador‘?

A) Knowledge Or1g1n Eduoatmn

(B Love, Knowledge Clarity of speech . o
o (C) ,Duty, Knowmg the fitting time, Knowmg the place \

Punty, Resources, Courage ,

| _. _(E) Answer not known . .

70 gngjmenﬂm GBI SETTES @@mm@mrr eTaIba s aamgeﬂ,mrrrr?
(A @iftey, Camppus, sdefl
B) ey, <ifle, ngﬂ;ﬁg Guéar

B (C) .EI_GE)LD a;rrmmgﬁ]g,m @l_Lo,rf)]gsu

D) gmian, gjmamml.o gjmﬂm
" (E) @Eﬂsoa G!g,rﬂmsﬂa)soa) o

With ghee xtmgl_nsh firel! - o ..IP

Tt will prove harder by scandal to extmgglsh love

(@A) Life
(8 Putout’
 (C) System

(D) Expertise

(E) Answer niot knowh

‘Ggmuna) Grrﬂgjgjuiﬁul.o Gre;urm;_i),r_orrm QEET@RIITED -

STLOLD @gggu(ﬁum eTaTeD”

- What 18 the meanmg conveyed through the word “extmgUmh”‘?

'4;'} | o CCS2E/2022
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181

Wthh moral text 1s exclalmed as “Velaan Vedham

(A) Thlrukkural

'.(B) Asarakovm -

- (C) Proverbs

Naladlya ar

' (E) Answer not known

Ga_rmrrarﬁr Geug;u:u Granl Gurrg)muu@l.o 155 g;nsu @gj -

@ posepa

(B) '. %&mm@a;rrma; o

- © uglorg

139.

(E) eenr 'Qg_,rﬂu_l'aﬁ]d.)mebl )

In Wthh excavatlon site Slr Mortﬂmer Wheelar used sment1flc and 5011

- 'layer method"

_(A) Pallavaram ,
- (B) Attlrampa_kkam_

. Arikkamedu

(D) Kaayal

(E) .Answer not known -

_Grg)g, qj—‘;){:%IEQGUITU'IFU_I&éﬂ u@g‘,]uﬁ]eu &it. Gmrrmq_mrr sﬁcorr cg{ﬂaﬁlu_isu mggum Lnsu’trr a@&@

e '@pmmmuu ummu@gﬁaﬂnn?

A uma)rremmb

(B)-'q%rﬁg,lgmurraaesm |

© é{ﬂs;as@w@

(D) ST

(B) o Apfludome .




133, Match the commoétone ©

@
o
, (c)_'

3 @

@)
L ®

g
201 4
1

Swatantra party
Gadar party -

Swaraj Party

.FO_I_‘W_&I‘;d Bloc p’a_rty |

@ o o .

.

Answer not ki}q-wr_i .

o '&ﬁlwﬁafgij‘rj)@gogﬁgf@@ﬁ@ .'

@

w

@

- ®
L ©
O
®

Y- - I

sopdr sl f

&3 &4 .

&'ru_lljrrgu_l sL&

Limreul Gerrd &4, -

@ ® © @

12 3
2 1 a4
13 4

A R

. 00 o

aﬁTeml_ 'Glgr"ﬂu_laﬁ]sbémq) | |

“ Found_ér'i B .
. Sohan Singh Bhakna
Mdtilai ‘I_\Teh_ru'” o
: C Raja__deal-achar_i_ :
‘Subash Chandra Bose -

O - R

rj]g;la}mr’rﬁ ,
Gonsar Ak uberr
G-m-frﬁcbﬂd)- G‘II;(_IB '

': eﬂ ; rjrrg._ Géanu-néong?qrrrﬂ

R N e

a;_ur,r_a'.q; a=_‘r_'5£|7‘ Gurrm\ o

4 CCS2EA022
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134. When the Government of Indla had demded to appomt a One Man
commission of Inguiry to ‘inquire into the circumstances of the

dlsappearance of Netaji Subhas Chandra Bose. In 1945 —— —’s |
- namewas recommended by the then Chlef Justlce of India. -

(A) _Srlnlvasavaradan |
(B) KK Ghosh
(C)D.K. Roy
| G.D. Khosla
_ (E) Answer not known
!
_ 4. |_Cﬂ 1945 & (S‘r_r,g,r@] E-I_HTQEF ggé,lv CSurreaJ LOALDLOTET @mmuﬁ]m @(wu@umgm@s
Camitpg @ ;_r)urr Gussoamolar &b dsmraar pLsgealsar @bswu

DIFETESD  (Pig. Qeuss FowWSHd Sieenpw g&&ﬁ;ﬁlmsﬁw SDEVEDLD ‘rf;ﬁu‘é,] 1
_ GUTGqu_lamju urﬂ‘rf,gjmggg,rrrr B Ty

: (A) gﬁ(r_ﬂeurr&surrg,w y
B) KK Carey -
() DK ymi

(D) " G.D. Ganever o
(E) . eflan @g,rﬂu_mﬁ].sbmm-

135. Muhammadan therary and Smentlﬁc Socwty of Calcutta was orgamsed by
(A) Amir AL a
(B) Dudhu Miyan -
.Abdul Latif
(D) Shariatullah
(E) Answer not known

e -

- Qasrra).s;g,g,rraﬂa) Qpa;mﬁwrﬂcm @meaﬁ:um i ..*_en,gﬂaﬁ]m;ﬁa'- ‘@mmbsbu'-
FHUESS W T ' o
(A @bt S
(B g Guner
€) @ngd epsas
- (D) ayfluggicrengn
(E) e Qsflwelderer




136. The objective of Tener_lcy reform is
0 Abolition of Intermediaries
B fIn'cr'eaSe Rural Literacy :
(C) Regulation of Money Lenders
| (D) Eradication of Rural mdebtedness |
L (E) Answer not known B

o ﬁme@ggmas 5@@55@ s L_gde @;ﬁ]&@én@r
(A) @mr_ggiyasrraswm bssam
a (B) .-élr;rrrLouq,g) soewheneu ag,]ssfﬂuug
- €C) s a_lgprm@ua_lrra;mm (g.)ss)‘g)u@gsgjeugj
D) Agroyp sLé s @Eﬂuug
- (E) a&]wl_ Gﬁiﬂmaﬂlma)m

- 1387. Whlch one "of the followmg is the functlon of the Fmance Commlssmn of
.~ India? oo | ‘

@) Allocatlon of the shares of net proceeds of taxes
(1) Laymg down prlnmples governing grants-in- -aid _
. (i-ii_) Loekmg mto the ﬁnanmal relatlon between the centre and the state _

@) @andG) &6, ) and i)
(© @andGd 00000 (D) (ii) and (i)
. _(E) ‘Answer not known =~ B -

o .. . ﬁ]mm@mmmm@w @‘r_ﬁﬁw B %a)mwgﬁaﬁ Gl&u_léuurr@ crgj? ’
1) wilseflen flay su@eurruﬁlw ursj@',aqﬂw @gwsg@
() oreflukismer Hiadsed Qardresseer 611@5;5@ |
(i) wsdlu wpgib wrHl BTEHEEEE G Gu gmm_ﬂ@um@mu utrfrul__lgl |
@) Goppo G 0 B O 6 wppo G)
€)@ oppw (i) - (D) () wpgus (1) -

B - R 51, - CCS2E/z022
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138 Match correctly the ‘common . name w1th the Genus name of nematode N

o parasmes
(&)' A_ncycloste'ma’
(b) 'En'terobiu's' _:
" (c) Wuchererla
'(d) Trlchurls

@ ® ©

3 .
© 3 4 2
® 2 1 4

n '(E) Answer not known

i R ST

@

v

W = R

Whlp Worm
E Hook worm

Pin Worm g

Filarial worm -

BETHL P @L@wmﬂaaﬂm Gu:ﬂsmu G]uu_J@ji_GoT Qurrgjeurrw Quu.!sa)r,r eaﬂmrrasu'--3

Qumgsaib.

- (a) .éqmmea;(ﬁmaauGana
- (b) GrserL__rrGUmElumu
(C) mé@&@qrﬂ@n )

() 'L-_a}r,—@m; -

@ ® ()
@ 1. 3
® 2 3
© 3 4

™2 1

[ R .',p...

1.

-
4. ¢

@

| (E) eﬁ'lm;.@ﬁrﬂamﬂdasmo'_ |

| CCS2E/2022

T L L;@

Qansdl g .

(UJG‘T aiC's |
oo sa)u(ﬁa)rﬂu_la) q@

2
1 .
3_




BQ2PJ@8$LBIV#Q65(HN9KCD3© £5FR7AY4"

| P@L1stoY751nthesamewayas$1#1sto o
- (A) RfO -
By F£3

@ 5.D

(E) Answer not known

2PJ@8$LB1V#Q6§GW9KCD3© £5FR7AY4

PaL Grmugj Y 7 5 GanTQJ (ajrj)]as&uul_!__rrm $ 1# Greurugj Grsuamg; @,r_x‘)]as&uu@\m? -

‘ _m)R£©

® F£3

| (O) T o3

- ® Gﬁ]@L'G}g,rﬂu_jQS]ﬁ)@m .

1,
~ valueof (3= 15+ 19)><8+6"

If x means + , — means x ,. + means + and + means — , what is the

(A .8

@4
o :(0/ 2
(E) Answer not known ._

.."X.GFGEI'LJ@ +, — Grehl_@ X, — m'arrugj + mmgnm + Grcn'rugj —, erefld

o (8- 15 19)x8+6 @6&1 m@uq GI’GSTGBT? '

A) 8

 $)4

D - -
'(E) sﬂem_ Ggrﬂu_la‘ilsumm

© 2

. s CCS2Emo22z
BRI T R [Turn over -~



141. _Which number replaces the question mark for the f01'10WiI_ig. nuinbef's?,..

HOO
®O6
OO

@ 21
- (© 25
o

i (E) A_nswé.r n'oltl'known

-£Guﬂ.p-6]asrr®$$uu|'_®éﬁm ﬂaﬁTa-dﬂ'éJ':_aﬁimﬁ'@ﬁuﬁg@g;@g Usg]w,@ m@m_ﬂ@. a5 -

OO
©Oe®

@w.a
® 28
©) 25
D 27
 ® de.Gsfludems ¢

. CCS2E/2022 | R 54




| 142 Find the volume of water tank measured 10mx5m x 1. 5 m.
-(A) 75 litre | '
- B 7‘50 litre =
(C) 1500 litre -,
- 75000 litre - | B
(E) Answer not known-

3 10 LS x 518 x 1. 5 LS @lmsume'r @@ (E,rrg@gm_tq_uﬁlcm G]asrrmmmm u_frrg,yp
_ (A). 75 aSh_a_rr .
- (B) 750 QS]l__l_rT o
. (©) 7500 e
(D) 75000 oLt |
(E) e G.‘e_r;_r'ﬂu.laﬁl;bsaqj |
|

143. An alumlmum sphere of radlus 12 cm is melted to make a cyhnder of
radlus 8 cm. Flnd the height. of the cyhnder :

(A) 24 cm
_(B) 30 cm

& 36cm

'_(D) 40 cm - : | .
(E) Answer not known L

" 12 Qs.1b. %U@GTGIT Gpif &gﬂuﬁ!mﬂu& Ga;rrsnu: &@EEUUI_@ 8 Gl& 5. %U@)mm @i |
2 (HETWIE mnmmuu@ﬁmg &@wmuﬁlsﬂ a.u_n]rua ST, _

C(A) 24Qs8.
(B) 30 Qs.8.
(C) 36 Qs.8.

(D) 40 Qs.8. -
(E) Sl Qgr‘ﬂu_laﬁla)msu '

B s CCS2E/2022
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144 Wh1ch among ‘the followmg 18 the s1mp1e 1nterest for the pmnmpal of
- T 1,000 for one year at the rate of 10% interest per annum‘?
‘@ T0 . (® 00
(© i’l_5b_. o T f,1_0'0'-_- o
_.(E) Answel_‘ n-o_t.ltnewri--_ R

ﬁlwm@mmmmﬂw Grg Z 1000 &&g;uasasrras @f}nm@&@ 10% Grem;o aﬁggtﬁm' )

g,aﬂml_tq_u_lrr@m? o |
@ T00 ® f5007
© ¥w0 . (D) T0

- (E) Gﬁ)GlDl_ Gg,;ﬂmaﬁ}mmm
145. -If the snnple 1nterest at the rate of x% per annum, for x years, is T x,
then the prlnmpal amount 1s ' :

@ s R sﬂ[@) |
.(C)'Tl'OOx ‘. .- D ¥T

(E)'f 'AnsWerl'not know_ri -

- IF %Gamq.,r_r;@ x% , eullg sﬁ‘e_r,gélm x-c%aﬁrr@s;@a(g és]ml_a;@m gsnﬂmuq_

'afg,mrrsn‘rgj ¥ x erafled a&eﬂa‘r LD;E,]uL[ - ~ D4GLD.
AT T (B)f[looj |
(«© T00x (D) z@ :

- (E) - aflent Qgiﬂmaﬁlé}meb

cossmmozz . s g

-~




146. 'If 2’x-+\3y 1 3x +.\5y'='18.:'.'2_9' then x : yis

@ 4:3

" 3:4

- (C) 23

® 8:5

(E) Answer not known

- 2x+3y 3x+5y 18: 29 Grsuﬂa)x yGerJgj

(A) 4:3.

| '_.(B)-.B:_,_ .
| (®} 2:3 o B S
(D) 3:5 . -

* 147,

(E) Qﬁ]mp'leﬂwQﬂ@@m. -

If 5 =x: 12 Then' the value of x is

o 10

® 6

© 12
® 5

(_E) Answer not known

. | 5:6= x.: 12 erafled x—s&r-wﬁlﬁu'.”_ n

L (A) 10 o
- ® 6 |
L © 12

(E) ofou Asfludomn

- , 57 -
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148 What 1s the greatest posmble volume of a vessel that can be used to
‘measure exactly the volume of milk in cans (1n full capamty) of 80 11tres '
- 100k tres and 120 htres‘? L : : :
'( 20 litres = , B) 25 litres
©) 30 litres . (D)' ;4_0. litres'
(E) Answer not known

| '@o@mgﬂmnaa lﬁHUI_II_Il_II_@GTTﬂT 80 el 100 eS?LL_rr LDJ]JQ_ILD 120 Sl it
C Olgirerenenay - 2 dTer  sweangafiey | Limedlenar &rﬂu,lrra DTS5 1 urrgé]ggé]mi
@iélssun&es Qasrrmmmm GTELGUGTEY ? o -

A) 20 eSlL_L_rfasm . | - o (B) 25 QS]LL.F'TBSG'IT o
(C) 30 eﬁh_l_rrasm o (D) 40 Sicafrser
(E) efleniL G]g,ﬁ]u_loﬁlwsm) : T :

149. Flnd the HCF of a —9ax® (a Sx]

W Co) o ® s}

L © @-9%zh a/(i_‘e,x) .

. - _(E) Answer not known o -

. a*-9axt(a- 3x) %oummm LﬁuQu@ @urrgj m@g,g;mo Sais.
'. @ @-9?) . T ® (e-sf

© @%b ) (@- )
(E) aﬁlmn_@gﬂmaﬁ\@wm c

s

| 150. Kumar borrowed T 52 000 from a money lender at a partlcular rate of .
+  gimple interest. After 4 years, he paid T 79,040 to settle his debt At
. “what rate of 1nterest he borrowed the ney‘? :

A 12% (¥ 13%
W 15% - . . (D) 11%
(B Answer not known.. - o |

(@I ereTLasT 6a(m @@ul_cﬁl_l_ g,euﬂsm_q aﬂﬁgﬁﬁm T 52 OOO SL TSI ngpmﬁn

4 AHTHSEHESL! DG sl SLEESTS z 79,040- gs @&gug@amrrr Graoﬂsu eretian
.ajl_tq_aﬁg,g,ﬁm :_%\IG].IIT sLen Gupmieremmr. - - - |
@A) 12% B o (B)13%
© 15% - D 1%
(E) aﬁ}am_ G]g,rﬂu_laﬁlsuweu S

CcszElzozz o S




- 151. Match the followmg | L
o SubJect - - e Year
(a)' -Commlssmn of Inqulry Act o L :1968_. |
| (b) Central C1v11 Services. (Conduct) Rules 2 1850
- © Publlc Servants (Enqulrles) Act = 3. 1964 B
. :-(d) '.All India Semce _.(Condu_ct) Rules 4 }1'9;52'
@ e @ |
(A) 1 2 3
o s g
©4 2z 1
o 1 2
(B Answer not. known

B S U RN

.«Ekgasasmn_m,r_f)m,mu Qun@g,gas_": -
Qurr([r)sﬁ (glLb) - R | %N@ -

s 1 1968

‘1850[

'_(a)' aﬁ]&m;msm %GDGBBTU_IE .5=|_L_u:. S 1

() _mg;ﬂmas &lgenLoL] uemfﬂasm (‘r_r,l_‘e_r,smg,) aﬁ]gf,lesm 2.

_(C): ',..Glurrgju umﬂu_lrrmrram (aﬁ]&rrl;rmmam) sLLID - 3. 196‘4.
(d) eyqé]su @‘r_r,ﬁu_l uswﬂasm (png,mg,) sﬁlg‘,\asm | .4.' 1952 |
@ - » © @ -
A1 2
o ® 43

o 1
- (E) dlmL Gl.‘;srﬂu.;zsﬁl@ma) -'

N . b
.

| R | B ) ~ [Turnover



152, Which of the following is_/a_r’e correct about .canfmeﬁt' Board?
(1) It is delimited -a‘re.a wherethe milzitary"'forces a'r.e péfméhently
o _’s’fatione_d o | ) o 5
(i) Itdoes -. n;)t_ work _un.d_ef the 'adminif;trative' _cdntrol_. of the D.'efencé -
Ministry " | R
. '(iii).' The’y are'grﬁupéd into. tlﬁ‘ee c:_atég_ﬁries: -
( '_'.‘(i) ox}ly correct - . .
(® @) and G are correct
(©) () and (iii) are correct
() (i) only correct
. | o
(E) \..An'sv_vier not known
| a;cuur(ﬁl_rrGoTG]Loam_ mrrrﬂu_lg,wg,ﬁ L) &gpasaasam__su,mgym GF@]IGI;@)@I afo
(1) ‘l;rrr@;m-Lb @@Uu;_gj$5uuLL @Gua‘jh_g,ﬁco ﬁqﬁ;gg@nés ﬁgug,suuuq.@&;@w |
) ungeroy seosssger s U 8 B Qoue LAapoes
Gid) @émsu T —" m@@q;@migh; ' e
@ O wj?@th &fﬂm&@ | |
B () wppio () sfumarenas
(C) @ .LDDQJ_LB_(i’ii) Efﬂ_“{”@@@ _.
o) (i) we. b sAuraE

. ¥

B decGgfudomw



153 Whlch Constltutional Amendment 1nserted Artlcle 43B for promotlon of -'

Co -operative Socwtles? P
(A) 42n¢ Amendment, 1976
(B) 44 Amendment, 1978
" (O) 86t Amendment, 2002

(B( 9.7':th' Amen_.dmé_nt', 2011
. (E) Answer not khoWn o

GI"II)‘& egrjreﬂu_lmmmul_[ HmesE FLLb am_@p)eu FRIGBIGEDET aar&gaﬁ]uug;ma;rra;u'

Gfay 43B-eows @mm@g@?

(A govs @@5§§51;L_m, 1'976__ ;

(B) 44 AmppssLib, 1978

© 8’6%‘:“?_:-5(5555;}_.._5,‘ 2002 "
® 9'_74‘“-.@ .Q@ggégg_m,_ 2011
® aﬁ]'e;wsn_..Glg.,r.‘r].u;sﬁ]é.JmaJ |

. [Turn over



154 Which one of the followmg fundamental nghts has been wrongly hsted‘? -

)

nght to Equahty

| '(B) Right to Constltutlonal Remedles |

o
L ®

nght to. Explmtatmn
Right to- Freedom-

AnsWer not known

_«%G%p G&rr@é;a;uuL_L_ &u}uuam_ &lﬂmws;aﬂeu crg,j g,sumrrasrgn

(A)

- ®

©
D)
()

&mg,g)gsu &rﬂww

'&Uélu_lsummuﬁlw cy)suu) grrsq a;rr@u.o arﬂmm

: a;gmn_g,u&@som_rrsm s flenin -

&g,j:bﬁlr e_rﬂcml.o

'Gﬁ]mL_, Qg,rﬂmaﬁla)ﬁma)

- 155.. Whlch among the followmg was not a nomenclature for “Umon |
Terrltory prevmusly‘? ' : : . :

| (A Scheduled districts
" (B) Chief Commissioner’s Provinces
(C) P_ai‘t C and Part D states |
/8 _Peeuli_ar central eneiaves :
(E) - Answer not knewﬁ |
_ égga;a;rrmuu@u@eua;eﬂm Grg,j @m;_f)]u_l : Qq@g&m&aﬂa’r @p‘njsngu_: G]uu_lrresm' |
-aﬁTsm_umg,J? S _ ' . : _
" (A) ‘Sl euenenrud GB‘H&EJ:’I_IIJE_I_ LOTGUL L TRGET
| (B) B .z%mswru_lrwserﬂm DrETETESET
(G .'u@,é] C wppd uEH D Lorr;ﬂmrma;m o |

)

{E)

g,suﬂg,gja_lmrrém W Hus u@@@m _
allenL_ Gg,_rﬂu_laﬁ]susmu .




‘ 156. Choose the right answef/anéwers abo}it fhe Supreme Court of India. -
| (@) The Suprjenie Court is the _Upholder of {:ho Constitution of India.
(i) The.d uldges-_ of th_.e 'Supreme_'_- Court hold ofﬁce .t_ill‘ the age of 'Seventy—_
~two. | - ) |
(i) The Indian Jud1c1a1 System conS1sts of a smgle hJerarchy of Courts

) (1v) The Supreme Court of Indla was constltuted on January, 1950

(A) () and (11) only
| i (B) (11) only |
_(C) (111) and @iv) only -

(Df (), (iii) and (iv) only
- .(E) Answer not known o

@pﬁm o 5§ ﬁﬁwmmg,mgsas @,r_ﬂgg, &rﬂu_frrsm mﬂmi_mu_i‘e_r-, Gg,ﬁp@g@é;&mm
(i) | &&&ﬁﬁmm@m ‘@'r_r;‘gf,]u_: émé]u_la)mwua)u ;ﬂcmu ﬂg)bsgun csqmwuu Qgj,@r,m
(i) a&&ﬁ@mm@ E,Q‘,]uﬁla;ar 72 UWF GUGDI]' u;sa‘iluﬁlaﬂ@uurrrr -

” (111) @pgﬂm E@g@m@ @,r_r)m,mu qu.ﬁsmaJ ﬁ‘é,lwm‘r_o DjeilienUs G]&rrmn_g,]

(@iv) @pﬁm &&&‘Sﬁmmmm 19504 %w cgj,am@ ge‘mmrﬂ LDIT§LD G]grerJ&,uul_L@ |

) mmg,nw (i) oG
(B) (1) wiGb |
(© (i) oppio (iv) ween |
O 6, (iii)_ oD (V) 0e.Gn
® "aﬁ}@; Apfucivme -

1 B SRR | _'63._ o - CCS2‘E12022;I-
' ' o ' ' o -_[Tu-'rn-_o_ver_



157, 'M.atch_the following: .
() -~ Senji
(b) Anaimalai

(©) Vellore

" (d) Panchalankurichi 4.

@ 2

e
/
D 4

_ (E) Answer._not known

2
2
3

@ ® ©
3 4

L
S
2

1.
. 2.

3.

1
4
1
1

'Stalﬁ dlirgé |

Vana durga

~ Giri durga - "

Jala durga =

EpssramuabenmL Qurr@g_’r,@as .

(a) Qogsd
(b) _.%mmwmw
- (© _Gé@nﬁ
@ u&@anm@@@ 4
@ B ©
3

&), 2

® 3

- (©) 3
o 4

(E) 'Gﬁlsm_.@grﬂ@aﬁldmw

CCS2E/2022

2
. 2
3

R L

1.

N

@

1
. .
1

auge gifism

e giter.

SN girsr

B gifan

64. .tl




158. | Sikandar.Lodi was-responéible for the foundation of the | ___cityin
 1504AD. | | o |

.' (A) | Dhol'p__ur-_. -
'_(B).‘ _qwaliof

©) ‘Brawah
o hgs

(E) Answer not known - o |

- 4.9, 1504 g@ge ;ﬂm{mﬂut’.L — — [EDLT A eﬂé;g;;bgﬁr Gaoomg
Sisgarons Gopsrr. ' o |

@ Garous

B) ot

©) micran

(D) _%éwrr

(E) @91@ @g,rﬂmﬂmm

| 8 o | L e '.CC'.E"._ZE/2I022-
' ' ' ' ' ' [Tt;rn over

-



'159. The concentration Index v}as calculated by
(1) (Total population and total cultivahle area in terms of persons
per km2. | S -
(ii) 'Dlividin'g. actﬁal- population of the distriét by the average i)'opulation
of a district. | | |

(i21) Total populatlon be correlated to the 1and area we1ghted accordmg

N toits pro.ductl.wty.
©(A) ,6) and (i) only
- of @only
(O) (i) and (i) only
D) (i) only
- (B) -Ansv?et not known-
Gsﬁ]m @,;ﬂus@ srmmmj sansALUUGHDS

0 en H.5 2 arem BUFEET atq.uumt_uﬁlsb Glmrrg;g waseT QprTens mmgjm
| ATRY ¥ &rr@uuq.uﬁléﬂ ugdy

(i)  em wrrsm_l_gﬁlsﬁr 2 BTPDWITET LOESET - G,srrm&snu_l &mmnmr_l_gﬁdn EIJTI'EI‘H

LD&&ET Q,srraa&mu.r Gasrram@ m@‘&,g,m

(iit) GLDIT§§ D&EET G]grrana; cg{gew &mugﬁg @m@&g G,r,r_bu ﬁwuuguql._cﬂ
G;sm_rn_;a)l_u_@

@ (1)- whgid (i) wi G
B) ) vy |
(O) (i) wpp (i) e G
D) (i) oo
B oo Apfucioma

CCS2E/2022 | - L . B




| -160. Match £he foilowing:
o (a) Tropicai Evérgi'e_enf
(b) Tropical Deciduous
(© " Semi-desert
NC\'R Mangrove .

C® B © @
(‘3 41 2
6) 4'_- 3 2 1
(0)2 1 8 4
™4 -2 8 1

(E) Answer not known "

lﬁshm(g@ar@m@mu Qurpsss.

(a) swenoaT_®. u&mmmnmrrs STHSET

~ (b) e:wﬁrmm;w..@wcuu.;ﬁr‘rés srhaer . 2.

(€) eupa LTeweeTRIEET
(d) &Qg,j'uq‘cﬁlm&' @rr@a;sh

@ O, © @
‘w3 4 1 2
® 4 3 2 1
©z 1 3 4
4 2 3 1
(B) o Gsfuddmn

N A

Thorny Bushes
Tidal Forests
.. Tropical Rain Forest .

-~ Monsoon forest

. wrugtsdr
@56 STHSET -

1
2

3. suer L’nsﬁ#rpm __Lnsb_kpés SIS
4

: -u@a;ésé;nmg]é sTHEET

‘coszEroezz |
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161 Which of the following statements are true about the location and extent
of India? :

o}

(11}

- (iid)

(1v)

@)
(B)

. ) o
India is dividéd into almost_two. equal halves by tropic of cancer.
India is the second laifgest country of the wt_ix"ld in a.r_ea. |
The latitude and longitudinal extend is nearly thirty degrees.
The standard meridian of India passes through Bhopal -

(i) and (iii) only
(), (11) and (iv) only

({ (i) and (iii) only

)
(E)

(1), (i1i) and (iv) only

Answer not known

@pdureier @muGLb wHb LFLUETY SDE  Qemeupd aax,ﬁ)gjéssrﬂdn' 6T 5 "
- eflumeng ? - S S |

()
(i)
(i)

. (1v)

(A) (i) wpgid (i) wr G

®)
(©)
)
- (®

aLs Crenslenmedd @bHwir @Umaﬁlm@ @r;ra’rr@' &L 'u@@&mn&ﬁ:-
Aflgscu Hérengt. L S ' .

L_ll;n;luénéﬁlcb 2 wdlen Gremraig G]urﬂu_l"r_r;rr(a Bpdwr.

2LE wppudb Srés CrenssEndsa @am..@u_l 2 &Tar @mL_GlaJaﬂ AlLgrL
wpuug gl 2 GLD- R

@b Sic SrssCreans (Burrurrcb m@urras a;t..;bgj @&Gog,m.o

@), (i) wpgd (iv) wi G
(i) wppud (i) wepo
(1), (ii) whmid (V) b
eflenL Qgﬁlu.:sﬁ]sb@w

CCS2E/2022 - . e o ) o B




162 .Aeéertjo_n [A] . High density liﬁoprotei-ns ‘transport cholesterol from :

' peripheral tissues to the liver.

| Reasorl (R] . The elevation of | lipids in plasma leads to the

A)

deposition of eholeSteroI on the arterial rvalls," leading
.to athero'sclerosis.-' ) |

[A] 18 false but [R] 18 true |

(B) Both [A] and [R] are true and [R] is the correct explanatlon of [A]

| (C)

[A] is true but ['R] is false

' ({ Both [A] and [R] are true but [R] is not the correct explanatlon of [A]

(E) Answer not known

-

sabm [A] I 2w al_rrg,ﬁ Gasrr@uqu L{U’gl‘ﬁl&i&T Upos 5]&55656:‘?160 @@pjgj.

'&GUGSUQJSS@E Qasrrweml_a]'rrmma; G]s;rrcm@ Gl&d)éﬁarmm

a;.rn;rmn.b. [R] .ﬁlmrraui.orrsﬁlm a_GlTGTT QS]LM_Cﬂl_asaﬂaﬂ LDQLMS@ g_smsnﬂ &'ra_!rramﬂa)

(A)

©)
©)

(B)

Gasrrmeml_qrrm qu_sug,g)@ mb@]m@.ﬁé}mgj @g} G]u@r_r,g,maﬂ
: g,lq_ul_[g,Gg,rrm a%p'mé].s@j m@m@ﬁﬁm@

' [A] seupl, e [R] &rﬂ
®

' Gﬁerrasasmrr@m

[A] whHpbd [R] @U’W@Lﬁ s, Gt.o@u.o [R] eTETLIg [A]eﬁl,m@ EI‘ﬂUJITGUT '

[A] #fl, gpered [R] Qeugu o |
[A] OHDILD [R] Goar@id - #M, c%sstrrrri;u [R] cTenLg| [A]aﬂm@ &rﬂu_srrscrr -.

aﬁlma;aswa)a)

efleni G]grﬂmaﬂti.)mm

69 . ) - Cc-sinzozz_



163. Choose the stronger acid in each of the following pair.

@ H,0* or H,0
() ' NH," or NH,
(i) H,S or HS"
(iv) H,0 or OH"

of 1,0°, NH,;", H,S, H0
' (B) H,0,NH,, HS™, OH™
(0 H,0",NHj, HS™, H,0
D) H,0, NH,*, H,;S, OH"
(E) Answer not known

EG@ QEIT@&&LILJI_@GITGH geuEatm Ggmq.uﬁgm.o GueSIamn Lﬁl@ éfoSlsugwg,s C‘Sg,rrsq
Cswweayib.
@ H;0" swwg H0
() NH," sonp NH,
(i) HyS wiowg HS™
(@) Hy0 ez OH

(A) 'H30’.’f-, NH4+.’ sts:Hzo'
(B) H,0, NH,, HS™, OH™
(C) H,0*, NH,, HS™, H,0
@) H,0, NH,", H,S, OH"
(E) e Qsflueidvme

‘CCS2E/2022 D | o B




164 The 1nteract10n of b1ot1c potem',lal with enwronmental resources, as seen

- in populatlons showmg the S shaped growth curve, as.: . o
- dN/dt =rN(N (N K)/ K Where N is the number of 1nd1v1duals in the

| -populatmn t is the time, r is the blOtlc potential of - the orgamsm

- concemed and K stands for

. (’/ Carrymg capac1ty
| (B) _-Mammum populatmn 51ze o
: (0) Particular _habitat -
@) _Biorhase-_ |
) (E)_ Ansﬁe;c' net known-

S—mtq.m mmrr&ﬁ @Jmma)m&; 5rrL_®LD LD&&GT Qzrenaulier a;rrcmuu@mgj Cure

a'r,r_r)gu&@%p@ a.la‘rrmas@l_mnm &uﬁ]fﬁu.m) c%mma‘ilsw QgnmLity : -
dN/dt -—rN(N K)/K @rm@', N ‘smrugg LO&EET 'Q§F@5$Uﬂ@ odrer |

- pafipuiisefler ersmauﬂa;a)&; t Gram_lgj G;bi;rl.n r eTeLIg| &Lbugsg,uur_l_ a_uﬂr?lwgﬁm"
: _'._a.uﬁlrﬂu_ueu Spen, wHmId Ksrarugj
(A) grrrm@m.ﬁlmeﬁ |
- (B) a@ssm_& maem Glgrranas .-_ﬂ;qmeq
(C) @;ﬁ]mﬁh_l_ e.lrr%psﬁh_m |
D) '.e_u_fal_ijruGlulr@qT o
.:_‘(E.})' em_agmmm

s m L j-' ceszwzozz
R - - - : " : [Turnover



165 Coné_idef thé_followin‘g statements : |

| Assertion [A] ; ’Sim‘orgh (pho?exﬁx) Jaunched tv;_r'o satellites.
Reason [R] | It is a satellite carrier rdci{et |

_ wa select‘ your an_swér scheme giyeﬁ below :
(A) Bothialré true |

.'.(B) B/Iotlh\are false.
(J [A] is false and [R] is true
(D) [A] is true and [R] 1s false

(E) -Answer not known

3@$5s&r|_ _Gurréséflu-_lrf;]ssmmés seue :
sapm [A] : \é“l(SLn.rrr'rés (Sefigav)  @oearh @&l.uﬁ)a).&& Gén@&.e&)m  eflamanficd
Gogipug N .
~ smyewrd [R] : Qg Qewupewss Ganarsaar ThsgIE Qsdgih Faadb @b,
&G GHuAL Berer .@,IﬂUSL'..Lq.G'U.-&rﬂU_IFI'GDT eﬁlmeng'G,gsﬁmG]g@ X
(A): @Uéﬁﬁr@m sflwrengy | o ' S
(B) @ranGi saprerg |
(©)  [A] posprang wopid [R] shunang
©) [A] sfiuneng wopis [R] sesprerg

(E) efla Gpfluecidveme

 CCS2E/2022 S g




166. Virtual G20 dlgltal Economy Mmlsters Summit 2020 was orgamsed by -
{ Saudi Arabia

®)

©

e

(E)

Iran
Iraq
Kuwait

'Answer not known

Qs G20 ereirenflwich Gurr@errrrg,m;r LD([bﬁl‘ﬂ&GlT si.Lb 2020 @GD ThE BT
BADLESILLLEI?

.
®
(©

D)

- (B)

" 167.

gayd SCrSwr

FRIJ TG

s

GDUG

aflev GgMwelicrana

Where is the largest solar power prOJect of India located?

(C)

o)
- ®

_(M/ Ra;asthan

Karnataka
Andhra Pradesh
Gujarat

Answer not known

@pfwrefan Wsr@uiiu GRw Weresd S e Heuiul Gererg ?

@A)
(B)
©
D)
(E)

FIEREVGE e

SABTL&M

2pSridnCaen
GBI
e Gpflusiidama

3 - CCs2E/2022
. [Turn over



-168. Justice. D. Murugesan Committee has been constituted in 2021 to look

into the matter of

(A) Reservation for Government school students in Tamil Nadu Police

Service
(B) Reservation in Public Sector Units

( Enrolment ratio of Government Schooi students in Professional

| Courses
(D) NEET Examination
.(E)' Answer not knowﬂ |
2021& ﬁﬁwq&r’r D @@Gas_&ér &W —-—-—-————— | arfluges 2T
SDIDOSSLILIL L F|. | o
(A) @rso ueral I@na&mﬁs@tﬁ@g ﬁﬁ@;ﬁﬁ@ ETeud gja)@uﬁ]é’@; @gj&%d
(B) Guwﬁﬂmﬁ? Poeemisafid gL 9553@ .
- © Qg#gﬁ]@&@aﬁluﬁl@aq&ﬂumaﬂ mnamgjfmﬂar Cotsas sﬁ]ﬁgm

D) g Coirey

(E) ot Qsfiwefdemer

CCS2E/2022 IR 4




169. Read “the following passage. and ‘answer the item that follow Your |
answers to th1s 1tem should be based on this passage only

PASSAGE

Education management information s‘fstem_ has been brought online
‘wherein the database of every school, teacher and students in
‘Government, Government aided and private schools are maintained on
- real time basis. Using this 1nformat10n several tasks are automated
sunphﬁed and reported everyday '

Which one of the following is best implied in the passage?
(A) Government has control over school _
| M It helps government in taklng well informed policy dec131on
(C) leferent stakeholders are involved in the system
(D) It is beneficial to the school authorities and students -
(E) Answer not known . '
&Gy Qasrr@&asuua@a'rm ugﬁmwu l_l!q.ﬁgj fammeflhE e welidsaubd. 2 mismg

 eflepLwimergy SLLTULASL ugﬁuﬁlaﬂ Sig v uGd: ThssIULLBTE @@5&5
Ceuampid

svafl  Coerdrenns  gsad | S@bUY  daug  @eerwu  aufurss
QesrarGearliul fé QsramgGsfpg. -PD 2rs, 27e 2 seflQuptb wHYD
saflwnt varaflaafien YAfwir whpib wraratsafiar gray gaudad scuauCung
CesfssluAapar. @sssumsmeart LwuaTUBSS s Qeudursanarg Fmer
Qusstiupdeaper, eaaflgrssindarper  Cuogid  prarCarpd - flsas
gwirbssuu B Eenper. . _

Spssam_appier orgl ADULITET SadPNS SEPLOWLD ?

4 avﬁﬁ@D.Qmaﬂaﬁ_ Lﬁgn& asﬁ@a_ﬁurr@' | |
(B) . Aptiwnen sseud gpawrear Qasrrci_mmas Yudu@ss SIrfHS Bs &gmd} '
(C) geaaamvuurd udGam g,mJu'L'_L UBIGST T RUAAEIOE Y 0
D) uverad ‘@rrmrrasgﬁ,u)@m wHMID Lorrmmrras@as@l.o 2 uu_lgmmgna; @@as@_au: '
(E) Gfﬂam_ Qg,rﬂu_ia‘j]o)ma) ' R B

B L B :  ceszEmezz. |
- - [Turn over.



170. Choose the correct answer

Given the situation due to COVID-19, the net borrowing ceiling of the

states were enhanced to ————— of GSDP in 2021.
(A) _ 4 percent | | (B) 3.5 percent

& 5 percent - (D) 6 percent
(E) Answer not known | -

- sflwrer sﬁlén_a)wg Cairb@s®H

Careilt -19 sryerrors ghul L @hbleaouid, wrlomsaien ‘Iﬂailj'- SHL6T 2 _&gaTibL

.2021@®,GSDP—U§]G§T. 5@ Gubu@ssiurLg.
(A) 4 sgaiad - (B) 3..5 s56igd
€) 5epaipo (D) 6 sgaSsid

(E) oferr Qsflueddrena

171. Which article of the Constitution states that the state to secure a social

order for the promotion of welfare of the people?

of Article 38 (B) Article 39

©) Article37 (D) Article 36
(E) Answer not known ' | '

w&seT pamar CLbLBSHUSHETE QU FLPS QHE®S ea_jlr&r LUTHETES Ceuam@id
ere s rflweenoly sl CQfley smpdng 2

(A srL9fey 38 By stLo8fley 89 -
(C) - erLci9fey 37 | | (D) sLLu9fey 36

(E) oferr QsRwedene

Ccsinzoéz. I 76 | SR N




172.

Which of the following is/are true? S
(1) Reformation may be identified with partlal changes in the value
_ system and consequential changes in the quality of relationships. |

(i) Transformative changes are characterized with radical changes in

Mtbe total system - -
(i) only _ (B) (ii) only .

(C) (1) and (11)) S (D) None of the above
(E) AnsWer not known |

‘%%paasrrmumeuaerﬂm ergy/eraney &2

(i) Erfmssd ereug wiy amwutﬁ]w FHUGD LU@$ rhpmaer whpib g‘msﬁ)aﬂ
_ STHSO ghupid afleneray ﬁﬁu_rrrem LOTHDIBIEETTE) DEPL_LITETLD STERTLILL GUITLD

(i) emordy wroprsst  Qwrss awmﬂlﬁ]s‘o Sy ahRIsEsLET

. mw&uu@g,suu@ﬁwmm
@) @ oo | B) @) won
©) (@) wpgwp Gi) . | - (D) T SID@

173$

‘ (E) Gﬁlém__ 'G)gsrﬂu_leﬁ)é)wm o

Accordlng to the Niti Aayog’s health index (202 1), , : and
emerged as the top th_ree states in Ind:a. ' :

(A) Uttar Pradesh, Assam an_d PunJab

( Kerala, Tamil Nadu and Telangana

(C) Andhra Pradesh, Maharashtra and Guj arat
(D) Punjab, Karnataka and Haryana

(E) Answer not known

2021 b e Geafl@ou e i wGursdlar ssrgnrs @gS]uﬁl_Lq_arrqu_
opD - 2w orhleBsd SO epeT

@L.EJEGDGITU 1Yy S aremar.

(A) 2 871 9GrssD, Sevavrd LDjDQ_ILD LGS,

(B) Gayerr, SOHBTEH LHDID Qggmanafn

©) s @Gfrgm WETYTEYYTT OHDID GSQITE
D) ugsar, siprsr wHHD eofurer

(E) ofler Qzflweilcrena |

7 . CCS2E/2022
: - [Turn over



174 Arrange the following temtonal conquests of Alauddm Khll]l in the

correct chronological order.’
I. Ranthambor

II. Malwa

III. Chittor

IV. Gujarat ) .
or/ Iv,LILII (B LIOLIV,IT
© LILIOLIV ) VILILT

(E) Answer not known |
SioneySles a?lcog@ufﬂem Genmatmd ﬂgn‘mﬁu_l QaupBisenar Qpem,mu_lrran* &ITQ mrﬂm&uulq.
TRHIS- o .

L pengbGumt -

175.

II. wréer

IIL. Asgn

V. @gms |

@ IV,LuLa  ® LOLIV,II
© LILULIV (D) IV, TIL, 1, I

(E) oS Qzfluaidene

Name the first woman who have been Jalled for Salt Satyagraha n
I\(f?ras Presidency? '
" Rukmini Lakshmipathi ®) Durgabai

(C) Satyawati (D) Swaroop Rani
((E) Answer not known o B

.@LDL._IJ'ITGTU LD T ITEmRT &l &LJL[ Egﬁu_lrr‘ﬂqasgﬂd) rr@u|_® eﬂm;oas@j G&Gur;o @gsu. '
Quamoenf wiri? _

(A) @mﬁ]mﬂ suuﬁuﬁluﬁ | (B) SIfSTLIME
(C) Fswneud : (D) eveugss grenf)
(E) o&feni- Qgrﬂusﬁ]@mm ' '
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176. According to the Kural' “Gnalam Karuthjnum kaikoodum” when: a man
wants to conquer the world what are the two thmgs he should keep n

mind?

@ - Wealtl'_l and Br'avéry/courag'et.
(1)) Time and P.lace R |

@ @ only
| ({ (i) 6n1y | |

© 6 and (i)

D) None of the above

(E) Answer not known

_. “@mm 5@@@1&) @&F[HLD” —
Gupanw Q@&@mﬁﬂmuq. QLo 2 @aLD @@m@gum a)asuu,rb,mm &(mEanmed
<S{GUIT Grpjg, @r)‘so‘ﬂml_ é-ljﬂ'[ﬁﬂ Qewdus Gmaﬁn'@m?

(i) _Qmm@,_om_eﬁr,r@m

() sremd §Lapb

A @) v |
® G) oo

© 0 wpgd (i)

(D) Cupsrgmid aaeuub Sde
" (E) aﬁ]au_ Qs flweiidena o

B IR CCS2E/2022
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177. “Thirukkural and Kamban’s Epic would suffice ‘to build a new
civil}zation even if the present one is completely erased”. Who said this?

" Caldwell
(B) G.U. Pope
(O ’ Veeramamunivar
(D) Ellis

(E) Answer not known

- cadlafld praflan whmib a%@p@aﬁh_s_rrgpw H@mEGDEHL, sbuer srelluaphd
'@@pgrrcu Cungitb, LBGO’DT@LD igeen Ugllsgellemb — erery smblwieur -

(A) sro@HQeud

B) H.u. Gun
(C)r aigwmapeiaur.
D) eode

(E) efen G]g,rﬂu;ef]@mm |

178. ]a)/g the ‘Later Chola permd’ Iraylh was assoclated with

Tax free land
"~ (B) Taxed land
(C) Tax levied on temple land
(D) Tax levied on leasing land
(E) Answer not _kndwn

| Gpsres Gempt sragdHd ‘Qepuiel aerig — Qam e wg.
(A) anf @sbé)'rrg Bleowd .
B) ol cugalissiue. Hab _
(C) Cambe Hasdbe st L el
D) ©ssass@ ALuul L fosdpsiar euf
(E) oo Qeflueerene .
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| 179 Consider the followmg statements : - -
| - (i) The partition of Bengal in 1905 was the most strlklng example of

the British divide and rule policy -

. (11). In the Calcutta meetmg 1905 Surendranath BanerJ e¢ gave a call for | |

the boycott of British goods and institutions

| _‘(1'11) On Tt August 1905 at Town Hall meeting 1n Calcutta, a formal.

180.

proclamation of Swadeshi movement was made

Which of the statéements given above isfare correct?
(A) @ only - ' B), () and (iii) only
(©C) () and (i_i) only - o d (1), (i1) and (i11) are correct
(E) Answer not known ' | o -

- Qemeugmld smbmissanens Srenrs.

() 1905-@¢ CuplsmdeariurL euiists aﬁlﬁ]aﬁla)w c%mél@euurﬂw lﬁlrﬂg,srr@m E
Q.srrmsmaes@j Slsé Sphs agnu;rcmmrrg:b R

()" 1905-@¢ peQupp GardsssT OABT lgd &qu‘é,]l;{prrg urra‘rrr&] Iﬁlﬂl_iq_aq:.

QUF(BL_GeeTIL|tb ﬁgjsummaswmum Lip&saiss sienpliy ®§§Hﬂ'

- (iii) 1905 sysavr. T-@é Qerissst pay Siymdd B Qupp am_a_‘e_r,g‘)@ &G‘g,aﬂ'

Quissd Ghlss papwirar Siflefily aphisiiniLg.
Gopseare sppiseid Grg]/sras)su sflurereneu?

@ @ TRl I - (B) () wppid (1) b G

©) @) wpged @) 0@~ D) (_1), (i) wpmo (i) sfwreng

(E) eflenL_ Qg,tﬂm@ﬁ]mmm

‘Second Round Table conference of 1931 - : :
1. It was held during the reign of Lord Welhngton as the viceroy of India

N 2. It was represented by Gandh1 on behalf of INC (Indlan Natlonal '

_ Congress)

* Which of the abeve statement ls/are correct?

) (A) 1 only. correct ~ (B) 2only correct.
(8% Both 1 and 2 correct o .(D) Neither 1 nor 2

5 (E) Answer not known

.9, 1931 b oy 6hmy i @UGWLHQJQ; UL Gmmg mnprr@ :
1. Qeuelmui e Sy @‘m@wnaﬁlaﬂ @euengmins @ mhs Curg ‘r_r;aal_Glu;b'mga

2. @pdw Gl 5rrrmé]mﬂa7 lﬁ]gﬁl;ﬂﬁun&s &p4 @Lomrrprrt_tq_su a;so(r_'r,g

Qsra&rimi.
Cupsam amppsaia Grgllcransu sflunerencu? _
A lopw o B 2 I @b |
- (C) 1 wppw 2 - o ' (D) 1w a{mw 2 oo

(E) oflenr GgMwiailédana -

8 . Ccszmzozz'
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181,

Allygial soil is rich in
Humus, Phosphoric acid, Lime and Orgamc matter

o -(B) Iron, Lime, Calcium, Potash Alummlum : and Magnesmm-

Carbonates

(C) Iron and Aluminium

(D) Highly Saline and nch in orgamc matter
(E) Answer not known

QUERTL GV LDaiT — Qr,pml.b QUETLOTGITE TS 2 _ciTerg).

-

(A) wsduw, urrsmurﬂé; Siublaib, semammmbLy, a;rﬂqulurr@aT

B) @mwy, seremmby, sroAwid, GQumLreflub, .glglﬂeoﬂu_lm m@gpm

w&eaiadwd sTTuGe.
(O @y wppw sigiefub

- (D) Seps e uyssatew LHRID s asrﬂwu@urr@ma;arr .

(E) oflan Glgrﬂu_lsﬁ]d)mm

18.2'."Asserti0n (A) : V.0. Ch1dambaram establlshed the Swadeshl Steam.

nav1gat10n company.

Reaeon (R)- :  He wanted to oppose ‘the monopoly of the Brltlsh in

Nawgatlon through the coast.

( - (A) and R) are true and (R) is the correct explanatlon of (A)
(B) (A) and (R) are true and (R) is not the correct explanatmn of (A)
(C) (A)is correct and (R) is wrong

D) (A)is wrong and (R) is correct |

(E) . Answer not known

mmgj B (A) L ane. eﬂgamum.b &Ggyﬂ SUILI l[ﬁlgjwmgmgg Qgrn_lmaﬂwrrrrr

| smyen  (R) @rdwus | s_pamr amafliusfe  mfCaowuisaflen

| apppiflenwen el erdliggmit.

@) smpp (A) wppd sryamd R) #A. smyamd R), (A) mpop orssdpg.
(B) (A) smpy wpmid (R) sryesd &rﬂ parme (R) smyewrb (A) saperp eflenss |
" eflevenen _ '
©) (A) spy &, (R) srremmd saupl
D) (A) oy gaup. (R) sryesrd sl

(E) el AsRNwadena '
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183. Chapter V of Part V of the constitution prowdes for a high officer of the
- Parliament who would exercise Vlgllance over the expenditure of public
“money. He is -
({ Comptroller and Aud1tor General of Indla
(B) Finance Minister
(C) Auditor General
(D) Prime Minister
- (E)  Answer not known .

ST L6 &rr&m'u(gﬁ V-ar V-ib qgﬂg@wrru_;m wéaefler (Qung) - umgmg;'
| sansnatlss pTLMEELADSHT Q@b oWt csqélasmﬂmu_i Buwend Qslfpg. Steult

L@, |
A) @iHw §@a)anm gaflsas wHMID aewmasrrsﬂrr
(B) B4 siewser |

(O soewmw selsmswurent
D) Sgsw wHHM |

- (E) aS]:em_ Qsflweloena

184, Wthh article says that, “No chlld below the age of 14 years shall be
employed to work in any factory or in any hazardous employment”?
(A) g Article 27 - (B) Article 26

- ) Article 24 | | (D) Article 25
(E) Answer not known ' '

‘14 awugss & 2.drer @%p‘r_r,mg,asm WIT(HLD Ggrrgﬁ;oahl_m a{sncvgj a{urru.lal;rl.orreur
BLusalld Goueme LMTéss smLng ~ @mgas F QLD s_9fey THI? '
A) sCLOGfay 27 o (B) s 09fley 26

(C) sLc9fey 24 (D) sieodfey 25

(B) e Gzflucidama '

- 185. Boothalingam study group is related to |

(A)  Trade unions R (B) Strikes

(C) Lockouts Wag‘es

(E) Answer not known :

Sénau(meuarelpbled s tisid c_%u_:ma;@@ Grga@l_m Qg,nl_nqml_mgj?

(A) Gsmflp sustiser . (B) Gaene fimssid

(©) yresoser : (D) emPurkiser -
| (E) eflen Gz fweildane - - .
| B | - &8  CCS2E2022
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186 ‘Whichof the- foliewmg ig not the role of NITI Aayﬁg"

(i)_ ‘Act as a think tank.
(11) Power to impose pohc1es on states

_(111) Funds allocatlon o S .
@ p@only '-(B) (1) and (ii)

®f @andGi) @ @ and G

(E) Answer not known

| &QsmTLeug);fﬂm aanet HiFl- %Gwrrasélem wenfl @m@m?
G e Cerseear Guears AsLdLIGais.

(1) mn;ﬁ]a)masmﬂa) SlLmigenar @mﬂ&@m Gammﬁmm |

(ii1) Fé @gjes&@ | _ |
@ Gocon B 6 wsg )

- (O) (i) wppd @) .. D) O wppe ()
- (E) _aﬁl.m-;Qgsrﬂ'u_l@‘jld)wcu | - ' '

187.

Principles of scientific thinking are .

() Empiricism

(i) Rationalism =

(iii) Skepticism

-y ()only o | | (B) .(ii) only

© @and@only - O @), G and Gy
(E) Answer not known - . S

. siflefiwe fpseoenlear QsrdTensse
| @) 'a@jusﬁsurrgm '
() uessdeeung

(ii) spCsewd

@ Qoo ® G@weces
(€)@ opgid (1) IO (D) (1), (11) Loﬁ)gum (111)

(E) e Opfueloaa




189

-188. How many terms.of the: serles 1 +23 +33 §._sh_o__uld be t;akén. to get the.
© sum 12967 | A R
@A) 6 .

B) 7

‘(0(8

D 9 |
~ (E) Answer not known

142+ 3% +...... eramp Az flé agsmar a;gjL'Jqééa)erT'a;;L;Lq_.mrrcb sapsed 1296

Her_s@ib?

@ 6

®M) 7

©) 8
® 9

E) am'm._*@grﬂm%@m |

I. . Find the value of \l

_(ﬂ/sl'

B) 3
(C)”33 | ” o
@ &

(E) Answer not known

| mguq SRS -3\/31/3_.'...

) 8
® 3
O 3
M) 3

(E) eflami Ggﬂm'sﬁ]@smm _

8. CCS2ERe22
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190. The average mark of 25 students was found to be 78.4. Later on, it was ”
~ found that score of 96 was misread as 69. Find the .cori'ect mean of the

marks.

@ 7732
M ;19.48...
©) 179.84
@) 9784

- (E) Answér nof known

25 IDTeRTa TS el 6T &l;rrr&rﬂ m@u@um 78.4 @i 96 ean wﬂuurrasrgj 69 erems
| geugugsorrs ﬁ@&&l_lul_l_gj s PHluliiL g erefled, wﬁlu@um&s@&&rrm gflwmer

syrEfews a;rrsmas_.
(A 77.32 )
By 79.48
(C) 79.84
(D) 97.84

(E) efeo. Qzfusiidme




191.. If 5 persons can do 5jobs in 5 days then how many days wﬂl it take for
50 persons to finish 50 jobs?

s  ®T
© 9 | ‘ M 1n
(E) _Answer not known |

; 5 pufser 5 Caueeseer 5 Bl seflcd Q&u‘.lgj Qg GI'GUﬂGO 50 ;Bl_m'aleirl
50 Caumaseaear, aggmer prisalid Gslig pgliLr?
@ s @B 7
© 9 .. M1
(E) oo Qgfluefdane '

192. A reader reads 20 pages of a book in 2 'hours 1n aﬁ unifofm speed. ‘How
much time will it take to read 50 pages of the same book in the same
speed‘?

(A) 3 hours

(B) 4 hours

({5 hours

D) 4% hours

(E) Answer not known

@G GHISLL Gm&ﬁ@d} Q05 qggagmga Ui s emeut 20 LsstismeT Lig&s
2 verfl Cpronding aefléd i ACs Causgded Gy ugg&g@a} 50 USSRIGHET]
Ulgss ereueuara GHBywmEL ? _ :

A) 3 wef
(B) 4uwah
©) 5wt
D) 4% wedh
(E) QS]GU)I,_ G!giﬂu.lsﬁld}mm

B .o - 87 | o CCS2E/2022
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193.

194.

The d1fference between the S.I. and C L. for 2 years for a prmmpal of -
yDO at the rate of interest 8% p.a. is

o 232
(B) %35
(C) =38

D) z42 |
(E) Answer not known

T 5,000-5@, 8% gen@ Gul_tq_u_fﬂsb 2 %Sﬂﬂ@&@&i@ gsuﬂmi_lq_sgm am_@
CYE TG0 @ml_Gmu_;mm 95 Hwimatd B |

(A) T32

®B) 35

(C) 38
D) <42

(E) e QsAweddama

The compound interest on T 5, 000 at 12% p.a. for 2 years compounded.

annually is
(A) 71,072

(B) % 1,172
c/: 1,272

D) 1,372 |
(E) Answer not known

g 5,000- -&@ 12% yam® a_u_tq_uﬁlsu 2 e@m@&@&@ %Gﬁc@as@srr@@om‘m GUI_.tq_&'.

essmaaé]t_uuu_rrda é;]sm_a;@m Fal () a.n_lq.u.lrrsng
(A) ¥1,072
(B) 71,172
(C) 1,272

(D) %1,372

(E) &fenL G]g,rﬂu_la‘j]dasb.m

. CCS2E/2022 88 o B




195 At what rate of snnple 1nterest the prm(:lple f 48 000 W111 amount to-

'.'(A) 5% |
(B 6%
NG 4O

255,560 1 n 2 years 3 months y

® 8%

_ ..(E) Answer not known

<o T 48, 000 .-_s,gj,mgj 2 cgbam@a;m 3 Lnrrgarrmg,ﬁ,r_r)@ r_‘ﬂeur g,aiﬂanq_ (g)sm.n'

Qurgss Glgrr@nasu_trra; T 55 560 %a; &u.m;bgg Gr@ﬂso QL g Gﬁgm SIS

A 5%

-196.

(B) 6%

C) 7%

® 8% )
| (E) Gfﬂsmt_.. Qgrﬂu_lsﬁimmm

Find the ratlo of 3 km to 300 m‘?

-

@) 3:10
(B 10:8-
(© 1:10

.__-({10 1

(E) Answer not known

3 £.8-a@b 300 LSLL@&@LD @am_Gu_r &GiTGTT aﬁleﬁgsm a;rrsu‘aas .

@A) 3:10

® 10:3

() 1:10

| (E) aﬁ]am_ G];srﬂu_lsﬁa)ma) R

8 . CCS2E/2022
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197

If the populatmn in town has 1ncreased from 20, 000 to 25 000 ina year |
find. the percentage increase in populatmn o '

'_(A) ,50%

25%
© 5%
(D) 100%

' (E) Answer not known

S paTsien mas&m@grrsm& QI C%Gﬂ'ﬁ'f[qﬂ.) 20,000- G&@p@j 25 000 %&5 &ﬁ&rﬂg,gjmmgj

erafled Losieir Gg,rrsmas aﬁa&nﬂuq &gaﬁgg,mg,as &GO E.

@A) 50%

»(B) 25%

198.

© 75%

D) 100% '
- (E)  fen Q‘g,rﬂu_lag]eba)@ _

If three .candi.d.ates-A, B and C in_'a' school election got 153, 245 and 102
votes respectively, find the percentage of votes got by the winner?

&), 48%

49%

(©) 50%

D) 55%

(E) Answer not known

A, B, C GTEH M Caul_Limariiaer LaTafl Gg,rrg,aS]dJ G]u,r_og) G].IFI'SS@&G!T @m,r_n@u.l 153 245 -

._LD,r_r)guu:i 102 crasfled Qauphl Glu;_n;_n GeuL Lifarilen GLIITE@') &g,aﬁggmga ETEHTE.

(B) 49% o . L

- (©) 50%

I

o 5%
(E) efleor Qzflwsiidena -

| CCS2E/2022 o s -




199 HCF and LCM of two numbers are 16 and 240 respectlvely If onge-of the
-number 1s 48 then the other number FE :

™ 80

(D) 90

| (E) Answer not known

- 8® Grama;oﬂem LBGurreu mmg;w LS@L.IrrLD (yampr 16 u::g)gum 240 cﬂﬁ,@m

. 200.

RETINN ) Graszrrasaﬂe) GR(M T 48 GI'GUﬂGD mm@mn@ Grmra)ewras Sens.

@a s . - o
B 60
e R o

® 0
' (E) aﬂmuﬂgrﬂmmmmm '

4

(& 8am

(B) 8pm -

(C) 5pm

(D) 9am

(B Answer not known . : :
allcbaehr, wgér, GerT Qeci,eﬁGu_arrrr @@ QUL m:q_afﬂmrrm @@urr@nguﬁlew o sheop
pepGuw 10, 15 whpw 20 ﬁlaﬂr__rua;aﬂsu &b Wiy shapent. Dieuisdr CQgm &l -
yerefl@e srae 7 waflées REDTEE HHOHS G]gsm_rmé]smrrm SIGUTEET LBGO'DT@LD

. Gru('o’urrgj Qgrn_.esa;u qmaﬂuﬁ]m @Gormrres& spPunniser?

(A 8.

® 84u B
© 560

D) 9wpu. o
(B) sfeni Qsflweldoana

I R ~ CCSzER022
| S - [Turn over

Wﬂson Mathan Guna can complete one round of a circular track in . §
10, 15 and 20 minutes respectively. If they start together at 7 am from
the startmg point at what tlme w111 they meet together agaln at the
'startlng point? .

5



